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I REHE

1 BREHR
(1) BEBEH#E (BEALF )
T E SHAFEE | NUE HEIRE | SHIEE | SH2EE
1E 5| I #A Lt Rl L
(%) (%)
5 | K T 3,704.4 94.4 91.6 3,926.2 4,044.5
z é Bi *E - - - - -
5 | & B 70.3 107.9 93.2 65.1 75.4
W | B K FE 169.9 98.7 110.3 172.1 154.0
x 5 | B R 0.0 63.5 71.9 0.0 0.0
it 3,944.6 94.7 92.3 4163.4 42739
£ 3y & 59.4 90.1 139.3 65.9 42.6
o % X 608.6 123.9 227.7 4911 267.3
F &t 656.1 120.7 217.7 543.8 301.3
E: 1) SO FOBRCHENRDA—BRLENGEA B 5.
2) ToJ FEHMIZERELZWLD, T-] FEEALTVEDETT,

3) FHMADHIZLADOHEIZ0.8ZF L-LXKIBREDEET.
(2) HiRmEHE (BT FhY)
2R |/F4E SH45E SHISEE
11A30HIRE(10A3TBERE| (A)—(B) |xttk(%)
] (A) (B) (3831 ABAE)
5 | Kk 3,704.4 3,299.0 405.4 83.2%
% 5 | BT - - - -
5 |BER 70.3 50.8 19.4 96.9%
w | B [LK FE 169.9 124.1 45.7 85.5%
X5 B R 0.0 0.0 0.0 62.0%
it 3,944.6 3,474.0 470.6 83.5%
7 3y & 59.4 35.6 23.7 80.1%
2 % X 608.6 457.2 151.4 109.3%
F &t 656.1 485.7 170.4 106.5%
E:1) BREHLLBREREDRIATHS.
2) SOVEFOBRTHERNRLA—BLEVEELH D,
3) TOJ FEEISHEEZVWED, -1 FEEABZVEDETRT,
4) MAHADOHIZILAOHEIZ0.8ZFLEIXIBREDSET,
(3) KIEIDbARKDERA L=
= s £ % A H O =H ( % ) Hem i E
£ E (Fry)| 1 & 2 % 3 = B/ | (s Ty
3,704.4 78.7 18.0 2.1 1.2 0.2
4 5 E <3,299.0> <79.4> <17.8> <1.9> <0.9> £0.2>
3,926.2 83.1 14.4 1.4 1.0 -
S % E (4,454.7) (83.1) (14.2) (1.4) (1.3) -
4,044.5 80.3 16.6 2.1 1.0 -
2 & E (4,902.3) (79.8) (16.5) (2.0) (1.7 -
AFEE-—SFEE(RA2H) -4.4 36 0.7 0.1 -
AFEE—-—2FEE(KRA2F) -16 15 0.0 0.1 -
E: 1) AFED RO E=DHFE. 4FI0ABREDIECH 5.
2) BEERUV2EEDLEOHFIX. R (11ANBKRE) DETHD.
3) SHEERU2FENDTE () Z0OHFIX. 3EEILI4E3 AIHIRAE.

2FEIIRME (3FI0AIBEERE) DETHSD.

4)
5)

575> KOBIRTH EMRA—BLLLBEAH 5.

M0 FEMIZHELBZVHD, -] BERNLGVLDETT,




2 BENRENE

(BAI:k2)

) Al WO |[KFESAELEXRK|KTEEEXR K| B ER X K |EMIZ2bRK|(ERMEER X
& & 452,160 406,356 43,697 2,107 - -
REERR 1,200,952 1,147,298 41,320 12,334 - -
' & 163,761 161,795 650 1,316 - -
5 F 135,728 126,144 8,719 864 - -
=2 W 176,916 171,499 4,466 951 - -
M M| 294,607 273,882 17,067 3,659 - -
(1 TR 1 226,451 215,799 7,494 3,158 - -
B B 203,489 198,178 2,924 2,387 - -
BREKR 672,029 651,586 13,555 6,878 - 10
* W 175,121 173,154 1,573 388 - 6
7 N 156,598 154,533 547 1,515 - 3
B OB 24,064 23,871 54 139 - -
b= S 46,463 46,226 78 159 - -
F ¥ 156,010 145,947 9,891 172 - 0
® K 54 36 - 18 - -
w o= N 3,857 3,670 39 148 - 0
(1T 5,666 5,233 102 331 - -
E B 78,097 73,854 839 3,403 - -
M| 26,097 25,062 433 603 - -
LEERE 716,799 662,473 39,952 14,374 - -
wooR 443147 402,809 31,353 8,985 - -
E W 119,544 112,541 3,933 3,070 - -
a 80,494 76,729 3,053 712 - -
g H 73,614 70,395 1,612 1,606 - -
HAEERB 138,966 135,042 2,302 1,622 - -
I B 29,412 27,414 1,376 622 - -
Z A 46,324 45,350 595 379 - -
= =B 63,229 62,278 330 621 - -
RS 188,042 165,312 3,447 19,283 - -
# H 79,873 76,199 2,389 1,286 - -
B 21,709 20,898 159 652 - -
X R 4,352 4313 13 26 - -
E E 63,294 45582 798 16,915 - -
= B 14,703 14,257 77 369 - -
M & W 4110 4,063 12 34 - -
FEREEKR 292,074 274,976 5,284 11,814 - -
B mW 23,978 23,154 389 434 - -
5 B 37,804 35,792 1,242 769 - -
@ W 65,430 59,448 1,288 4,695 - -
L B 51,534 47,418 1,090 3,027 - -
w 39,403 36,709 705 1,989 - -
m 5 23,699 23,259 67 373 - -
F N 11,194 10,995 168 31 - -
Z IE 18,650 18,353 158 139 - -
= A 20,382 19,849 177 356 - -
AMEBEBD 282,363 260,186 20,326 1,851 - -
2 M 56,452 54,504 1,165 783 - -
' E 51,644 39,489 11,710 445 - -
£E 14 10,092 9,983 43 65 - -
B K 66,603 59,253 6,972 378 - -
x & 25,085 24,751 176 157 - -
= 39,643 39,604 20 19 - -
B R 5 32,844 32,602 239 3 - -
bid i 1,212 1,211 1 - - -
& 5 3,944,596 3,704,441 169,883 70,262 - 10
E 1) SUCFOBERCHENRDE—BLAVB AN HUET .
2) TONFEFEIZHEIZEVLED., T-IIEFBEILZVBEDERLTVET,




2 EENREHE (FIMALARUVEMARIK)
(B b))

[} Al AL Hs | FAHARX

it &\ & 634 44,693
HiLREE 16,685 218,682
' & 10,934 45814

5 F 2,848 22,005

T W 934 41,196

# H 191 24,893

TR 1,649 20,719

E B 129 64,056
BARREBUS 13,623 223,945
% 3,858 73,672

LT N 814 67,841

B OB 377 3913

% E 509 14,836

F X 2,565 59,983

B = - -

o= - 54
[T 11 8

E % 1,242 1,166

B M 4,247 2473
LERBUS 1,727 44,7127
ST 1,025 24,049

E W 541 7,744

a 108 5,132

B H 46 7,802
RERBE 8,722 24,729
i B 6,001 8,402

2 A 1,827 8,205

= =B 894 8,121
EREBUR 2,313 11,677
# B 560 8,522
" 311 190

X B - 41

' E 1,442 2,656

= B - 269

M ]| W - -
FENERBUS 5217 24,462
E W 550 810

E &R 62 1,593

@ W 103 8,613

L B 2,716 569

w QA 1,454 4,090

m B - 3,251

F N 229 236

B IR 96 1,129

= A 6 417

RN BRBUD 10,448 15,671
B M 395 2,503

& = 28 3,456

E & 488 153

B A 456 3,996

X 9 5,457 2,207
= 2,517 1,025

BE R B 1,106 2,331

i # - -

& Hi 59,367 608,586

E: 1) SO FOBRCHTERNRA—RLGVBEAHY ET,
2) ToJ FEHEICEEEVWED, -] IEENEVEDOE
RTLTWET,



3 FRAREHE

(1) KIESE563=K (BT %)
8w _ 5 &= 4 = % & tt B
#w 1= 2 % 3 % [#HB4sn Z 2% |38 % |#Hrs
It & & 406,356 371,828 14,210 3,598 16,720 915 35 0.9 4.1
HiLB®&E 1,147,298 1,071,979 61,886 5,737 7,696 93.4 5.4 0.5 0.7
5 & 161,795 148,339 11,947 1,208 301 91.7 74 0.7 0.2
5 F 126,144 121,779 4,001 298 66 96.5 3.2 0.2 0.1
= W 171,499 164,130 5,664 931 775 95.7 33 05 05
B H 273,882 243,594 22,655 2,221 5,412 88.9 8.3 0.8 2.0
1T 215,799 205,332 8,984 567 916 95.1 42 0.3 0.4
g B 198,178 188,805 8,635 512 227 95.3 4.4 0.3 0.1
e 4] 651,408 536,678| 102,846 9,582 2,302 82.4 15.8 15 0.4
*x W 172,976 116,693 52,088 3911 284 67.5 30.1 2.3 0.2
wm K 154,533 144,288 8,848 562 835 93.4 5.7 0.4 05
B OR 23,871 21,622 2,098 148 3 90.6 8.8 0.6 0.0
B X 46,226 29,546 12,910 2,924 847 63.9 279 6.3 1.8
F oE 145,947 126,825 18,065 883 173 86.9 12.4 0.6 0.1
B o= 36 - 14 21 1 - 39.1 58.6 2.3
W= 3,670 1,602 2,014 52 2 43.7 54.9 1.4 0.0
1T 5,233 4,377 775 78 4 83.6 14.8 15 0.1
E B 73,854 71,354 2,160 319 21 96.6 2.9 0.4 0.0
B M| 25,062 20,370 3,875 684 133 81.3 15.5 2.7 05
LERRE 662,464 525,226 | 124,863 6,667 5,708 79.3 18.8 1.0 0.9
,ooR 402,800 303,138 93,943 3,240 2,478 75.3 233 0.8 0.6
E W 112,541 97,392 13,685 1,040 423 86.5 12.2 0.9 0.4
| 76,729 63,119 12,208 1,101 301 82.3 15.9 1.4 0.4
I 70,395 61,577 5,027 1,286 2,505 875 7.1 1.8 3.6
HEBRKR 135,042 64,148 64,706 5,336 852 475 47.9 40 0.6
I B 27,414 14,326 11,280 1,169 639 52.3 41.1 43 2.3
2 4l 45,350 24,860 18,181 2,219 90 54.8 40.1 49 0.2
= B 62,278 24,963 35,246 1,948 122 40.1 56.6 3.1 0.2
RREKRE 165,312 100,549 57,297 6,711 756 60.8 347 4.1 05
% 5 76,199 50,619 23,542 1,749 288 66.4 30.9 2.3 0.4
" O 20,898 14,056 5,497 1,183 161 67.3 26.3 5.7 0.8
X BR 4313 1,933 1,882 483 15 448 436 1.2 0.3
E E 45582 19,661 23,045 2,697 179 43.1 50.6 5.9 0.4
= B 14,257 13,221 795 181 60 92.7 5.6 1.3 0.4
M oW 4,063 1,058 2,535 417 53 26.0 62.4 10.3 13
TEEERBS 274,976 160,714 96,254 15,558 2,450 58.4 350 5.7 0.9
& W 23,154 14,120 8,188 768 78 61.0 35.4 3.3 0.3
E B 35,792 23,812 9,662 2,091 227 66.5 27.0 5.8 0.6
W 59,448 32,805 21,965 4,220 458 55.2 36.9 7.1 0.8
5 B 47,418 40,667 6,025 598 127 85.8 12.7 1.3 0.3
oo 36,709 27,325 8,140 1,015 230 744 22.2 2.8 0.6
B 23,259 10,665 10,611 1,640 343 459 456 7.1 15
F 10,995 1,327 8,383 1,268 17 12.1 76.2 115 0.2
B E 18,353 6,980 9,930 1,092 351 38.0 54.1 5.9 1.9
= A 19,849 3,013 13,350 2,866 619 15.2 67.3 14.4 3.1
R BBRE 260,186 82,156 145811 25,729 6,489 316 56.0 99 25
B M@ 54,504 9,178 39,293 3,663 2,370 16.8 72.1 6.7 43
& = 39,489 17,772 19,110 1,386 1,222 450 48.4 35 3.1
£E 15 9,983 1,803 7,564 575 41 18.1 75.8 5.8 0.4
B K 59,253 18,523 34,614 4,725 1,391 313 58.4 8.0 2.3
X & 24,751 11,492 10,024 2,938 298 46.4 405 11.9 1.2
=g 39,604 14,625 15,447 8,931 601 36.9 39.0 22.6 15
BE R B 32,602 8,763 19,760 3512 567 26.9 60.6 10.8 1.7
N 1,211 545 438 180 49 450 36.1 14.8 4.0
& § 3,704,253 2913823 668,311 79,098 43,021 787 180 2.1 12
E: 1) SUCFOBRCHENRA—BLEVBEA DY £,
2) ToJ [FEEISHEEZVLD. -] FERIALGTVELOERLTVET,




_(2) KIFHLHEZAK

(BT b, %)

8w _ L &= 4 = % & tt B
# 3 1% 2 % 3 F | B ¥ £ |12 % | 3% [#gsn
It & & 43,697 42,174 480 56 986 96.5 1.1 0.1 2.3
HiLBEE 41,320 17,572 21,941 1,239 569 425 53.1 3.0 1.4
5 & 650 75 550 23 2 115 84.7 3.6 0.3
5 F 8,719 7,607 927 25 161 87.2 10.6 0.3 1.8
= W 4,466 791 3,200 473 2 17.7 71.7 10.6 0.0
B H 17,067 1,085 15,157 497 328 6.4 88.8 2.9 1.9
1T 7,494 5,599 1,629 191 75 74.7 21.7 2.5 1.0
g B 2,924 2,415 477 30 2 82.6 16.3 1.0 0.1
BREEBE 13,555 10,567 2,592 298 99 78.0 19.1 2.2 0.7
*x W 1,573 1,101 382 75 15 70.0 24.3 48 1.0
m K 547 475 54 15 3 86.8 938 28 0.6
B OR 54 16 17 20 1 29.2 325 372 1.2
% FE 78 15 43 15 4 19.6 55.3 19.5 5.6
F oE 9,891 7,998 1,749 129 15 80.9 17.7 1.3 0.2
B’ =R -
W= 39 2 33 4 1 438 83.6 9.2 2.4
1T 102 23 23 1 55 22.9 22.3 1.1 53.7
E B 839 644 175 20 - 76.7 20.8 2.4 -
B M| 433 293 117 18 4 67.8 27.0 43 0.9
LERRE 39,952 23,326 14,614 1,716 295 58.4 36.6 43 0.7
,ooR 31,353 17,179 12,888 1,056 230 54.8 41.1 34 0.7
E W 3,933 2,835 867 211 20 72.1 22.0 5.4 05
| 3,053 1,933 673 405 42 63.3 22.0 13.3 1.4
I 1,612 1,379 187 43 3 85.6 11.6 2.7 0.2
HEBRKR 2,302 988 1,165 122 28 42.9 50.6 5.3 1.2
I B 1,376 794 494 68 20 57.7 35.9 49 1.4
2 4l 595 137 432 20 6 23.1 725 34 1.0
= B 330 57 239 33 1 17.1 723 10.1 0.4
RREKRE 3,447 608 2,421 392 25 17.7 70.2 114 0.7
% 5 2,389 265 1,857 249 18 1.1 77.7 10.4 0.8
" O 159 6 130 20 3 35 82.3 12.5 1.7
X BR 13 3 4 5 1 26.7 28.8 38.9 5.5
E E 798 334 367 94 3 419 46.0 11.8 0.3
= B 77 0 59 18 1 0.1 76.4 228 0.7
M Ok W 12 - 4 7 1 - 33.9 60.0 6.1
TEEHERBES 5,284 1,945 2,705 507 128 36.8 51.2 9.6 24
& W 389 203 162 21 2 52.2 41.7 5.5 0.6
E B 1,242 643 476 105 18 51.8 38.3 8.5 1.4
W 1,288 83 1,021 140 43 6.5 79.3 10.9 3.3
L B 1,090 452 467 161 10 414 429 14.7 0.9
oo 705 506 171 23 5 71.7 242 3.3 0.7
B 67 8 50 6 3 11.9 738 9.3 5.0
F 168 44 110 11 3 26.1 65.5 6.6 1.8
B IE 158 3 95 23 37 2.2 59.8 145 235
= A 177 3 153 15 6 1.4 86.6 8.6 34
M BERE 20,326 7,069 11,953 968 336 348 5838 48 1.7
B M@ 1,165 492 521 77 75 422 44.7 6.6 6.4
& =B 11,710 6,030 5,261 283 136 515 449 2.4 1.2
£E 15 43 - 39 4 1 - 88.9 9.9 1.2
N 6,972 517 5,985 386 84 74 85.8 5.5 1.2
X & 176 5 101 69 2.9 57.1 39.1 0.9
= 20 - 3 12 6 - 14.1 57.9 28.0
B R B 239 25 43 137 33 10.3 18.2 57.5 14.0
b 1 - - - 1 - - -|  100.0
& § 169,883 104,249 57,871 5,297 2,467 61.4 34.1 3.1 15
E: 1) SUUFOBERCHENRA—BLEVBEABHY £,
2) ToJ [FEEISHEEZZVLD. -] FERIALGTVBLOERLTVET,




(3) EERAZK

(BT b, %)

PR _ = = # = % # ke B
Rl | %E(1%5 2% Z R L4 S %2 %3 (g
I & & 2,107 - 171 1,891 15 - 30 -| 81| 89.8] 0.7 - 14
BB 12,334 - 634 10017| 1,323 279 81 -| 51| 81.2] 107 23 0.7
5 & 1,316 - 164 1,093 58 - - -| 125| 83.1| 44 - -
A F 864 - - 697 93 67 8 - -| 806| 107 77| 09
T W 951 - - 261 646 41 3 - -| 274| 679] 44| 03
o= 3,659 - 22| 3418 101 88 30 -| 06| 934 28] 24| o8
(TR 7 3,158 - 443 2,382 224 69 40 -| 140| 754 71| 22| 13
z B 2,387 - 4| 2,167 202 14 - -| 02| 908 85| 06 -
BREEBE 6,878 11 229| 5514 670 339 115] 02| 33| 80.2| 97| 49| 1.7
*x W 388 - 30 278 43 33 4 - 78] 71.7] 112| 85| 09
L/ N 1,515 11 182 993 161 64 104] 07| 120| 655 106| 43| 68
B OE 139 - 2 72 44 21 - -l 17| 51.7] 316] 150 -
B E 159 - 1 102 39 11 6 -| o8| 642 242| 69| 39
F o= 172 - - 130 36 7 - - -| 75.1| 206| 43 -
B OmW 18 - - - 1 18 - - - -| 44| 956 -
W= ) 148 - - 94 31 23 - - -| 633 212 155 -
(1T 331 - 3 296 15 18 - -| o8| 89.4| 44| 54 -
E B 3,403 - - 3145 211 46 1 - -| 924| 62| 14| 00
B [ 603 - 10 405 90 98 1 -l 17| 671 149] 163| 0.1
LEERBE 14,374 - 125 11,973 2,032 137 106 -| 09| 833| 141 10 07
w8 8,985 - 58| 6,891 1,829 104 104 -| o6| 76.7] 204] 12| 1.2
E W 3,070 - 2| 3,009 54 3 2 -l o1| 980 18] 01| o.1
a 712 - - 614 86 12 - - -| 862 121] 1.7 -
I 1,606 - 66| 1,459 63 18 1 -| 41| 908| 39| 11| o.1
WEEBE 1,622 4 506 716 332 64 1] 02| 31.2| 44.1| 205| 39| o.1
g B 622 - 308 163 139 11 1 -| 495| 262 223] 18| 02
Z M 379 - 20 265 82 11 - -| 53| 700] 21.7] 29 -
= B 621 4 177 287 111 42 -l o6| 286 463| 179 6.7 -
big- 3154 19,283 878 9,176| 4,996 1,829| 1,473 930] 4.6| 476 259 95| 76| 48
% B 1,286 - 111 581 477 67 49 -| 86| 452| 37.1] 52| 38
- 652 - 4 304 272 72 - -| 06| 466 41.7] 11.1 -
X R 26 - - 1 3 21 1 - -| 38| 11.1] 804| 47
E E 16,915 878 9,060( 3,900 951 1,248 8771 52| 536| 23.1| 56| 74 52
= B 369 - 1 209 101 55 3 -| 03| 56.7| 27.4] 148| 08
M # W 34 - - - 24 10 - - - -| 705| 295 -
PEREEBEE | 11,814 14 2,701| 5433 1,741| 1,402 522] 0.1| 229| 46.0| 147 11.9| 44
E W 434 - 12 228 144 49 1 -| 28| 526 332| 112 02
& & 769 - 10 455 260 42 2 - 13| 59.1| 338| 55| 03
3 4,695 5 172| 2,597 746 804 370] o1 37| 553| 159 171 79
I 3,027 2| 1,837 866 160 75 88] 0.1 60.7| 286 53| 25 29
W A 1,989 7 425 1,094 165 242 56] 0.3 21.4| 550 83| 122| 28
m B 373 - 245 66 12 50 1 -| 656 17.6] 3.1| 134| 02
EF 31 - - 6 14 12 - - -| 19.4| 43.4| 372 -
T g 139 - - 84 53 0 2 - -| 600 383 0.1 16
= A 356 - - 39 188 128 2 - -| 108| 52.7| 36.0| 05
I EBUE 1,851 4 49| 1,102 362 233 102] 02| 26| 595| 196| 126 55
B @ 783 4 44 493 151 60 31] 06| 56| 629 193] 76| 40
& B 445 - - 277 60 67 41 - -| 62.3| 135 15.1] 9.2
E 15 65 - - 9 33 15 9 - -| 13.1| 503| 223 142
B K 378 - - 251 61 48 17 - -| 66.6| 16.1] 128] 45
x & 157 - 5 72 51 27 3 -| 31| 457 323| 170 1.9
=G 19 - - - 3 16 - - - -| 158 842 -
B R & 3 - - - 3 - - - - -| 100.0 - -
i -
& &t 70,262 911 13591| 41643 8304| 3927 1.887] 13| 193] 59.3| 118 56 27
E: 1) SUCFOBERCHENTA—BLEVBEABHYET .
2) ToJ (FEEICHEEZZVWED. T-] FEENMGVEDOERLTVET,




4) SAMALAHRUEBBZTR

(BT b %)

8 5 BmEHE (Has) |EHERGGA) BEHE (X X)) |F/HEEEX)

BE & % | BEN &K |BEN BE &K I[EEN] &% [HESN

It & & 634 634 - 100.0 - 44,693 44,693 - 100.0 -

HilLEBE 16,685 16,685 - 100.0 - 218,682 218,678 4 100.0 0.0

' & 10,934 10,934 -l 1000 - 45814| 45814 -l 1000 -

A F 2,848 2,848 -l 1000 - 22,005 22,005 o] 1000 0.0

T W 934 934 -l 1000 - 41,196| 41,196 -l 1000 -

#o=H 191 191 -l 1000 - 24,893 24,893 -l 1000 -

(TR 1,649 1,649 -l 1000 - 20,719 20,719 -l 1000 -

E B 129 129 -l 1000 - 64,056 64,053 3] 1000 0.0

BREDE 13,623 13,623 - 100.0 - 223,945| 223,922 23 100.0 0.0

*x W 3,858 3,858 -l 1000 - 73,672 73,672 -l 1000 -

L N 814 814 -l 1000 - 67,841 67,837 3| 1000 0.0

BB 377 377 -l 1000 - 3913 3913 -l 1000 -

% E 509 509 -l 1000 - 14,836 14,833 3| 1000 0.0

F % 2,565 2,565 -l 1000 - 59,983 59,970 13 100.0 0.0

- S - - - - - - - - - -

&= ) - - - - - 54 54 - 100.0 -

(1T 11 11 -1 1000 - 8 8 -l 1000 -

E % 1,242 1,242 -l 1000 - 1,166 1,165 1 99.9 0.1

B M 4,247 4,247 -] 1000 - 2473 2,470 2 99.9 0.1

JLRE BB 1,727 1,727 -] 1000 - 44727 44,722 5| 1000 0.0
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B m 232 - - 52.2 334 145 -
5 166 - - 375 56.8 55 0.3
W 2,355 0.2 05 53.8 18.8 19.7 7.1
L B 870 - 14 80.5 8.5 7.6 20
W o 1,724 0.4 23.6 54.6 7.0 12,5 1.9
m B 348 - 68.1 14.2 3.1 14.4 0.2
EF N 28 - - 215 47.9 30.6 -
E & 29 - - 46.8 53.2 - -
= A 29 - - - 56.3 43.7 -
= [ 683 0.6 6.5 69.3 1.1 8.6 3.9
' = 240 - - 41.2 235 28.0 7.3
£ & 63 - - 13.6 49.2 22.7 145
N 183 - - 71.0 19.7 - 9.4
X » 60 - - 45.1 225 29.6 2.9
=g 9 - - - 24.7 75.3 -
R B 1 - - - 100.0 - -
N E 25,335 3.2 37.7 37.4 8.8 8.0 49




(B b. %)

5% A Eow | 8 3 ki # =2 *
B E| B |1 % |2 % |3 % |RKs
AT E E 121 - 68.0 26.7 5.3 - -
HDE 5 F 124 - - 41.8 38.7 19.4 -
Eegi w 316 - 7.3 83.3 5.0 2.9 1.6
SR = B 2 - - 100.0 - - -
25E Z Al 106 - 47 37.1 53.5 47 -
B335 w K 130 - 6.3 78.4 8.1 - 7.1
EATIP/ o 110 - - 94.5 55 - -
Al 147 - - 100.0 - - -
N 257 - - 97.7 2.3 - -
Z20NE E B 1,201 - 0.4 90.8 8.1 0.8 -
ERE W= 20 - - 93.3 - 6.7 -
R 8 - - 100.0 - - -
N 28 - - 95.1 - 49 -
=K x W 7 - 100.0 - - - -
BB 37 - 6.4 77.1 16.5 - -
= 20 - - 60.2 28.2 11.6 -
Z A 102 - 14.8 54.0 25.2 6.0 -
X & 16 - 31.0 51.0 16.1 - 1.9
N E 181 - 16.2 57.0 22.0 46 0.2
R * W 55 - 30.4 14.7 12.8 42.1 -
EMm2E E E 60 - 71.0 5.6 23.3 - -
E O & & 8 W Ft 67,951 1.3 19.0 60.8 11.7 47 25
e = ' 4 = 70,262 1.3 19.3 59.3 11.8 5.6 2.7
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